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OCR A2 Biology

14 Plant responses

1
(a)
Growing plants with the apical bud intact but no gibberellins or auxin applied.

(b)
To make the results more reliable. To enable a mean to be calculated. To enable any anomalous results to be identified.

(c)
130 – 6 ( 100 = 2066%


  6


(d)
The shoots treated with gibberellins already had auxin present as the apical buds were not removed. This means that the student was investigating the effect of combining auxin and gibberellins. Also, the shoots treated with auxin already had auxin present, so she was investigating the effect of increasing the auxin concentration. She did not investigate the effect of gibberellins on their own, nor did she compare auxin to no auxin.

2
(a)
(i)
As auxin concentration increases, so does increase in length. There is a maximum increase in length at 1.4 μmol dm-3. At higher concentrations of between 1.4 and 1.8 μmol dm-3, the increase in length drops.



(ii)
Temperature; age of stems; light intensity.


(b)
Synthesis of enzymes or activation of enzymes. Increase in plasticity of cell walls leading to greater cell elongation.


(c)
Auxin or synthetic auxin (2,4-D) can be used as a selective weedkiller to kill broad-leaf plants. 
Ethene can be used to promote ripening and drop of fruit so that all the fruit can be harvested together. Auxin can be used as a rooting hormone to promote cuttings to develop roots.

PAGE  
Hodder Education © 2013
1

[image: image1.jpg]